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Complete the table.
Equation of parabola Does it open up or down? vertex p value
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Graph the following parabolas. F '
1. Determine the direction of opening F
2. Determine the vertex
3. Cadlculate the value of p f
4. Plot the vertex ./e , dv
5. Use the p value to plot the focus and the directrix. '/
6. Use-anxiy-teble+ Hwo-more-points-on-the-graph. Use symmetry to draw the other
two. (v )y
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HORIZONTAL PARABOLAS

Standard form: x= (y k) +h \% %5
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Grcwr hihe foIIoqu parabolas.

Defermine the direction of opening

Determine the vertex

Calculate the value of p

Plot the vertex

Use the p value to plot the focus and the directrix.

Use an x/y table to determine at least two more points on the graph. Use symmetry to draw

the other two. ) 5
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Extra practice on parabolas

Give the direction, vertex, p, focus, directrix, and graph
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Put into standard form. Then do all the stuff from 1% page.
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Use the information to write the equation of the parabola

7. Vertex (9,1), Focus (8,1) g

8. Vertex (-4,3) Focus (-5,3)

9. Vertex (9,0) Directrix x=7

10. Vertex (-3,3) Directrix x=1

11. Focus (4,2) Directrix y=6

12. Focus (3,2) Directrixy=0




